
PHYSICS

BOOKS - SURA PHYSICS (TAMIL

ENGLISH)

LAWS OF MOTION

Textbook Evaluation Choose The Correct Answer

1. Inertia of the body depends on

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JJJIG3TlURy0


A. weight on the object

B. acceleration due to gravity of the planet

C. mass of the object

D. Both a & b

Answer: C

Watch Video Solution

2. Impulse is equals to _________

A. rate of change of momentum

https://dl.doubtnut.com/l/_JJJIG3TlURy0
https://dl.doubtnut.com/l/_pePletFRGYz1


B. rate of force and time

C. change of momentum

D. rate of change of mass

Answer: C

Watch Video Solution

3. Newton's III law is applicable _________.

A. for a body is at rest

B. for a body in motion

https://dl.doubtnut.com/l/_pePletFRGYz1
https://dl.doubtnut.com/l/_epc18JWddriB


C. both a & b

D. only for bodies with equal masses

Answer: C

Watch Video Solution

4. Plotting a graph for momentum on the X-

axis and time on Y-axis . Slope of momentum -

time graph gives _________

A. Impulsive force

https://dl.doubtnut.com/l/_epc18JWddriB
https://dl.doubtnut.com/l/_xbDumMYw5Gw4


B. Acceleration

C. Force

D. Rate of force

Answer: C

View Text Solution

5. In which of the following sport the turning

effect of force used ?

A. swimming

https://dl.doubtnut.com/l/_xbDumMYw5Gw4
https://dl.doubtnut.com/l/_OI5uA8h4CJ6I


B. tennis

C. cycling

D. hockey

Answer: C

Watch Video Solution

6. The unit of 'g' is  . It can be expressed

as ________.

A. 

ms− 2

cms− 1

https://dl.doubtnut.com/l/_OI5uA8h4CJ6I
https://dl.doubtnut.com/l/_GzHQp2m1fKsH


B. 

C. 

D. 

Answer: B

Watch Video Solution

Nkg− 1

Nm2kg− 1

cm2s− 2

7. One kilogram force equals to ____________

A. 

B. 

9.8dyne 

9.8 × 104N

https://dl.doubtnut.com/l/_GzHQp2m1fKsH
https://dl.doubtnut.com/l/_lcbVtxTqURsc


C. 

D. 980 dyne

Answer: C

Watch Video Solution

98 × 104dyne 

8. The weight of a body is measured on planet

Earth as M . When it is taken to a planet of

radius half that of the Earth then its value will

be ___________ .

https://dl.doubtnut.com/l/_lcbVtxTqURsc
https://dl.doubtnut.com/l/_ij6Vu5P6LiQa


A. 4M

B. 2M

C. M/4

D. M

Answer: C

Watch Video Solution

9. If the Earth shrinks to 50% of its real redius

its mass remaining the same , the weight of a

body on the Earth will ___________

https://dl.doubtnut.com/l/_ij6Vu5P6LiQa
https://dl.doubtnut.com/l/_2wkvz0tOtuCh


A. decrease by 50%

B. increase by 50%

C. decrease by 25%

D. increase by 300%

Answer: C

Watch Video Solution

10. To project the rockets which of the

following principle(s) is /(are) required ?

https://dl.doubtnut.com/l/_2wkvz0tOtuCh
https://dl.doubtnut.com/l/_Xv8wC2mNWlXl


Textbook Evaluation Fill In The Blanks

A. Newton's third law of motion

B. Newton's law of gravitation

C. law of convervation of linear momentum

D. both a and c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Xv8wC2mNWlXl


1. To produce a displacement ________ is

required .

Watch Video Solution

2. Passengers lean forward when sudden brake

is applied in a moving vehicle. This can be

explained by _______.

Watch Video Solution

https://dl.doubtnut.com/l/_mbIIUxLOHzM5
https://dl.doubtnut.com/l/_7N9iROONMqW1


3. By convention , the clockwise moments are

taken as __________ and the anticlockwise

moments are taken as __________.

View Text Solution

4. __________ is used to change the speed of car

.

View Text Solution

https://dl.doubtnut.com/l/_ClfyrIt0dN79
https://dl.doubtnut.com/l/_SW753BQrb3bg


Textbook Evaluation State Whether The

Following Statements Are True Or Fales Correct

The Statement If It Is False

5. A man of mass 100 kg has a weight of

__________ at the surface of the Earth .

Watch Video Solution

1. The linear momentum of a system of

particles is always conserved .

View Text Solution

https://dl.doubtnut.com/l/_BcBxWF9Xtgmf
https://dl.doubtnut.com/l/_bA1fZRTO384g


2. Apparent weight of a person is always equal

to his actual weight

View Text Solution

3. Weight of a body is greater at the equator

and less at the polar region .

Watch Video Solution

https://dl.doubtnut.com/l/_bA1fZRTO384g
https://dl.doubtnut.com/l/_zQ5XHszipIeO
https://dl.doubtnut.com/l/_dBCn6sCuxYDZ


Textbook Evaluation Match The Following

4. Turning a nut with a spanner having a short

handle is so easy than one with a long handle .

Watch Video Solution

5. There is no gravity in the orbiting space

station around the Earth . So the astronauts

feel weightlessness .

Watch Video Solution

https://dl.doubtnut.com/l/_xjpIAkfWSJlO
https://dl.doubtnut.com/l/_cA8jUKG4ttfc


Textbook Evaluation Assertion And Reason

1. Match the following : 

View Text Solution

1. Assertion : The sum of the clockwise

moments is equal to the sum of the

anticlockwise moments. 

Reason : The principle of conservation of

https://dl.doubtnut.com/l/_EkdNd55BUdd2
https://dl.doubtnut.com/l/_qyP2NDH5sRI0


momentum is valid if the external force on the

system is zero .

A. If both the assertion and the reason are

true and the reason is the correct

explanation of assertion .

B. If both the assertion and the reason are

true but and the reason is not the

correct explanation of assertion .

C. Assertion is true , but the reason is false

.

https://dl.doubtnut.com/l/_qyP2NDH5sRI0


D. Assertion is false , but the reason is true

.

Answer: B

Watch Video Solution

2. Assertion : The value of 'g' decreases os

height and depth increases from the surface

of the Earth . 

Reason : 'g' depends on the mass of the object

and the Earth .

https://dl.doubtnut.com/l/_qyP2NDH5sRI0
https://dl.doubtnut.com/l/_es3aS3EQajog


A. If both the assertion and the reason are

true and the reason is the correct

explanation of assertion .

B. If both the assertion and the reason are

true but and the reason is not the

correct explanation of assertion .

C. Assertion is true , but the reason is false

.

D. Assertion is false , but the reason is true

.

https://dl.doubtnut.com/l/_es3aS3EQajog


Textbook Evaluation Answer Briefly

Answer: C

Watch Video Solution

1. Define inertia. Give its classification .

View Text Solution

https://dl.doubtnut.com/l/_es3aS3EQajog
https://dl.doubtnut.com/l/_tf0j66hadrev


2. Classify the types of force based on their

application .

Watch Video Solution

3. If a 5N and a 15 N forces are acting opposite

to one another . Find the resultant force and

the direction of action of the resultant force

Watch Video Solution

https://dl.doubtnut.com/l/_0cGPt4c8OdCF
https://dl.doubtnut.com/l/_fQHIphLb3BU7


4. Differentiate mass and weight .

View Text Solution

5. Define moment of a couple.

Watch Video Solution

6. State the principle of moments .

Watch Video Solution

https://dl.doubtnut.com/l/_ld2Jk5GLN2hw
https://dl.doubtnut.com/l/_YcF0gkl5LNET
https://dl.doubtnut.com/l/_BwYZFJf12Exh


7. State Newton's second law .

Watch Video Solution

8. Why a spanner with a long handle is

preferred to tighten screws in heavy vehicles ?

Watch Video Solution

9. While catching a cricket ball the fielder

lowers his hands backwards. Why?

https://dl.doubtnut.com/l/_ZklShBJM2d9C
https://dl.doubtnut.com/l/_8IppMW3uM5FE
https://dl.doubtnut.com/l/_5R3RhURjaS8A


Textbook Evaluation Solve This Given Problem

Watch Video Solution

10. How does an astronaut float in a space

shuttle ?

Watch Video Solution

1. Two bodies have a mass ratio of 3:4. The

force applied on the bigger mass produces an

https://dl.doubtnut.com/l/_5R3RhURjaS8A
https://dl.doubtnut.com/l/_3X4UmFDtQkt4
https://dl.doubtnut.com/l/_TotvwBEHcIir


acceleration of 12 . What could be the

acceleration of the other body , if the same

force acts on it .

Watch Video Solution

ms− 2

2. A ball of mass 1 kg moving with a speed of

 rebounds after a pefect elastic

collision with the floor. Calculate the change in

linear momentum of the ball.

Watch Video Solution

10ms− 1

https://dl.doubtnut.com/l/_TotvwBEHcIir
https://dl.doubtnut.com/l/_oOQorFo7eyNL
https://dl.doubtnut.com/l/_1mPmLPPRkU8k


3. A mechanc unsrew a nut by applying a force

of 140 N with a spanner of length 40 cm .

What should be the length of the spanner if a

force of 40 N is applied to unsrew the same

nut ?

Watch Video Solution

4. The ratio of masses of two planets is 2:3 and

the ratio of their radii is 4:7 . Find the ratio of

their acceleration due to gravity .

Watch Video Solution

https://dl.doubtnut.com/l/_1mPmLPPRkU8k
https://dl.doubtnut.com/l/_5PTVnrlHkfJ4


Textbook Evaluation Answer In Detail

1. What are the type of inertia ? Give an

example for each type .

View Text Solution

2. State Newton's laws of motion .

View Text Solution

https://dl.doubtnut.com/l/_5PTVnrlHkfJ4
https://dl.doubtnut.com/l/_ByXjlYgvXimN
https://dl.doubtnut.com/l/_n1vSGPlqqHU0


3. Deduce the equation of a force using

Newton's second law of motion .

Watch Video Solution

4. State and prove the law of conservation of

linear momentum .

View Text Solution

5. Describe Population Age Distributation.

https://dl.doubtnut.com/l/_zhW13GjaoX9T
https://dl.doubtnut.com/l/_D5CpLphsmfYK
https://dl.doubtnut.com/l/_eSHiuJm3DxyG


Watch Video Solution

6. State the universal law of gravitation and

derive its mathematical expression .

Watch Video Solution

7. Give the applications of universal law

gravitation .

Watch Video Solution

https://dl.doubtnut.com/l/_eSHiuJm3DxyG
https://dl.doubtnut.com/l/_leNCPWUp48cR
https://dl.doubtnut.com/l/_XVDokqL2r8ER
https://dl.doubtnut.com/l/_orRlkEIAIi5C


8. A heavy truck and bike are moving with the

same kinetic energy . If the mass of the truck is

four times that of the bike , then calculate the

ratio of their momenta . (Ratio of momenta =

1:2)

Watch Video Solution

9. "Wearing helment and fastening the seat

belt is highly recommended for safe jorney".

Justify your anwer using Netwon's laws of

motion.

https://dl.doubtnut.com/l/_orRlkEIAIi5C
https://dl.doubtnut.com/l/_e5acXZClvvnX


Textbook Evaluation Hot Questions

View Text Solution

1. Two blocks of masses 8 kg and 2 kg

respectively lie on a smooth horizontal surface

in contact with one another . They are pushed

by a horizontally applied force of 15 N .

Calculate the force exerted on the 2kg mass .

Watch Video Solution

https://dl.doubtnut.com/l/_e5acXZClvvnX
https://dl.doubtnut.com/l/_DiPU5nloeI7Y


Government Exam Questions Answers

Additional Questions Answer Choose The Correct

Answer

1. Calculate the velocity of a moving body of

mass 5 kg whose linear momentum is 2 kg

 .

Watch Video Solution

ms− 1

https://dl.doubtnut.com/l/_xgC3ioLdhI6f


1. Physics that deals with the effect of force on

bodies is __________.

A. Kinematics

B. Dynamics

C. Statics

D. Mechanics

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AtcOGCmVMjTD
https://dl.doubtnut.com/l/_5K7zM2sjnYIY


2. _________ deals with the bodies which are at

rest under the action of forces .

A. Statics

B. Knematics

C. Dynamics

D. Mechanics

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5K7zM2sjnYIY


3. Study of moving bodies under the action of

forces _______

A. Statics

B. Knematics

C. Dynamics

D. Mechanics

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_5Sm3JDkdEqVs
https://dl.doubtnut.com/l/_oGLdHp9p39lR


4. The resistance of a body to change its state

of rest is called __________

A. inertia of rest

B. inertia of motion

C. momentum

D. inertia of direction

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oGLdHp9p39lR


5. The resistance of a body to change its state

of motion of called __________

A. force

B. momentum

C. inertia of motion

D. inertia of direction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TvN4Rb5CROyF
https://dl.doubtnut.com/l/_aVYaHutrkOLb


6. The resistance of a body to change its

direction of motion is ____________

A. force

B. momentum

C. inertia of motion

D. inertia of direction

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_aVYaHutrkOLb


7. An athelete runs a certain distance before

taking a long jump . Why ?

A. force

B. momentum

C. inertia of motion

D. inertia of direction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0CG9TwVBTsI1
https://dl.doubtnut.com/l/_NM6L16U0ragb


8. Tha act of cleaning a carpet by heating it

with a stick is an example for inertia of

__________

A. motion

B. direction

C. rest

D. momentum

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NM6L16U0ragb
https://dl.doubtnut.com/l/_RQhhKdqnq3Th


9. A luggage is usually tied with a rope on the

roof of the buses due to ________

A. inertia of motion

B. inertia of direction

C. inertia of rest

D. momentum

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RQhhKdqnq3Th


10. The momentum of massive object at rest is

_____________.

A. large

B. infinity

C. zero

D. small

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Vp7XAsH8bl6D
https://dl.doubtnut.com/l/_cMESzcHpxgmz


11. Inertia is a __________

A. property of matter

B. type of force

C. the speed of an object

D. none of the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cMESzcHpxgmz


12. A & B are two objects with masses 100 kg &

75 kg respectively , then ________

A. both will have same inertia

B. B will have more inertia

C. A will have more inertia

D. both will have less inertia

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PdmRRE1ufD0f
https://dl.doubtnut.com/l/_BIuANqXtoeIM


13. The physical quantity which is the measure

of inertia is ___________.

A. density

B. weight

C. force

D. mass

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BIuANqXtoeIM


14. The sparks produced during sharpening a

knife against a grinding whell leaves the rim of

the wheel tangentially. This is due to ________

A. inertia of rest

B. inertia of motion

C. inertia of direction

D. force applied

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ypv6zB36JSqE


15. The law that gives a qualitative definition of

force is _______

A. Newton's I law

B. Newton's II law

C. Newton's III law

D. Law of gravitation

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nwEq5wsm8aPl
https://dl.doubtnut.com/l/_rhMuRkAzr4le


16. The SI unit of force is __________

A. energy

B. joule

C. newton

D. dyne

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rhMuRkAzr4le


17. A body is said to be under balanced force

when the resultant force applied on that body

is __________

A. zero

B. infinite

C. one

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rVbNHa8mIDi9


18. If equal or unequal forces act along

opposite directions parallel to each other ,

then they are called ________ parallel forces .

A. resultant

B. equilibriant

C. like

D. unlike

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KjlGDHI3SGqF


19. The rotating or turning effect of a force is

__________

A. momentum

B. torque

C. couple

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CTvvDbPG2k2h
https://dl.doubtnut.com/l/_lBGuvZV6j9mN


20. Acceleration of an object will increase as

the net forces increases depending on its

__________

A. volume

B. mass

C. shape

D. density

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_lBGuvZV6j9mN
https://dl.doubtnut.com/l/_rID2Dp381dEM


21. The formula used for Newton's II law of

motion is _________.

A. Force = mass  acceleration

B. Velocity = acceleration  time

C. Momentum = mass  velocity

D. Speed = distance | time

Answer: A

Watch Video Solution

×

×

×

https://dl.doubtnut.com/l/_rID2Dp381dEM


22. An ice skater pushes harder with his leg

muscles , he begins to move faster . This is an

exmaple of ___________

A. Newton's I law

B. Newton's II law

C. Newton's III law

D. Law of conservation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_aAejODe9Pv8f


23. You're riding a bike when suddenly you hit

a larger rock . The bike stops moving but you

fly over the handle-bars . This is an example of

________

Watch Video Solution

24. When you paddle a canoe , the canoe goes

forward . This is an example of __________

A. Newton's I law

B. Newton's II law

https://dl.doubtnut.com/l/_a8iO8AiAwuZE
https://dl.doubtnut.com/l/_A6zL88XwKIEY


C. Newton's III law

D. Law of conservation

Answer: C

Watch Video Solution

25. The acceleration is a body is due to

__________

A. balanced force

B. unbalanced force

https://dl.doubtnut.com/l/_A6zL88XwKIEY
https://dl.doubtnut.com/l/_LAFzNY5TCudX


C. quilibriant

D. couple

Answer: B

Watch Video Solution

26. When an object undergoes acceleration

_________

A. its speed always increase

B. a force always acts on it

https://dl.doubtnut.com/l/_LAFzNY5TCudX
https://dl.doubtnut.com/l/_91zW0OAzv57E


C. its velocity always increases

D. velocity always decreases .

Answer: B

Watch Video Solution

27. A force of 20 N is acting on an object of

mass 10 kg. The acceleration produced is

___________

A. 1ms− 2

https://dl.doubtnut.com/l/_91zW0OAzv57E
https://dl.doubtnut.com/l/_5wvU3k1ZaXNH


B. 

C. 

D. 

Answer: B

Watch Video Solution

2ms− 2

20ms− 2

10ms− 2

28. The physical quantity which is equal to rate

of change of momentum is ___________

A. displacement

https://dl.doubtnut.com/l/_5wvU3k1ZaXNH
https://dl.doubtnut.com/l/_P71lFjon9ck6


B. acceleration

C. force

D. impulse

Answer: C

Watch Video Solution

29. The physical quantity which is equal to

change in momentum is ________

A. velocity

https://dl.doubtnut.com/l/_P71lFjon9ck6
https://dl.doubtnut.com/l/_kZmZwCwe5pSo


B. acceleration

C. force

D. impulse

Answer: D

Watch Video Solution

30. An example for a vector quantity is _________

A. speed

B. distance

https://dl.doubtnut.com/l/_kZmZwCwe5pSo
https://dl.doubtnut.com/l/_cCCruBMNRo18


C. momentum

D. length

Answer: C

Watch Video Solution

31. Impulse is equal to _______

A. ma

B. Ft

C. mv

https://dl.doubtnut.com/l/_cCCruBMNRo18
https://dl.doubtnut.com/l/_Y8413FSV0RNX


D. 

Answer: B

Watch Video Solution

v − u

t

32. SI unit of impulse is ______________

A. Ns

B. 

C. 

D. 

Ns2

kgms− 2

kgm2s− 2

https://dl.doubtnut.com/l/_Y8413FSV0RNX
https://dl.doubtnut.com/l/_CFxuFQvENuhl


Answer: A

Watch Video Solution

33. When a force of 1 N acts on a mass of 1 kg

that is forced to move , the object moves with

___________.

A. 8.9 N

B. 9.8 N

C. 980 N

D. 1N

https://dl.doubtnut.com/l/_CFxuFQvENuhl
https://dl.doubtnut.com/l/_xYvLGM1cANQI


Answer: B

Watch Video Solution

34. The resultant of action & reaction forces is

___________

A. greater than zero

B. less than zero

C. zero

D. one

https://dl.doubtnut.com/l/_xYvLGM1cANQI
https://dl.doubtnut.com/l/_zPWe9LvspGh4


Answer: C

Watch Video Solution

35. Rocket works on the principle of

conservation of __________.

A. mass

B. energy

C. momentum

D. velocity

https://dl.doubtnut.com/l/_zPWe9LvspGh4
https://dl.doubtnut.com/l/_Sft61atG9yV6


Answer: C

View Text Solution

36. Which of the following statement is not

correct for an object moving along a straight

path in an accelerated motion ?

A. its speed keeps changing

B. its velocity always changes

C. it always goes away from the Earth

D. A force is always acting on it .

https://dl.doubtnut.com/l/_Sft61atG9yV6
https://dl.doubtnut.com/l/_EJfp29Pf4ecm


Answer: C

Watch Video Solution

37. A body of mass 1 kg is attracted by the

Earth with a force which is equal to

_______________

A. 

B. 

C. 

D. 

9.8N

6.67 × 1011

1N

9.8ms− 1

https://dl.doubtnut.com/l/_EJfp29Pf4ecm
https://dl.doubtnut.com/l/_vwsQ8Kyd4ao6


Answer: A

Watch Video Solution

38. According to the Newton's III law of motion

, action & reaction __________.

A. always act on the same body

B. have same magnitude & direction

C. always act in opposite directions

https://dl.doubtnut.com/l/_vwsQ8Kyd4ao6
https://dl.doubtnut.com/l/_M3av8ONG1rng


D. act on the either body at normal to each

other

Answer: C

Watch Video Solution

39. A water tanker filled up to  of its height

is moving with a uniform speed , on sudden

application of the brake , the water in the tank

would ___________.

2

3

https://dl.doubtnut.com/l/_M3av8ONG1rng
https://dl.doubtnut.com/l/_0j9skZkrAQZN


A. move backward

B. be unaffected

C. rise upwards

D. move forward

Answer: D

Watch Video Solution

40. The value of g __________

https://dl.doubtnut.com/l/_0j9skZkrAQZN
https://dl.doubtnut.com/l/_3HpodaID6dVw


A. increases as we go above the Earth's

surface

B. decreases as we go to the centre of the

Earth

C. remains constant

D. is more at equator and less at poles

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3HpodaID6dVw


41. The ball is thrown up , the value of g will be

__________

A. zero

B. 

C. 

D. negligible

Answer: C

Watch Video Solution

+ve

−ve

https://dl.doubtnut.com/l/_xG0eCPSrMLXL
https://dl.doubtnut.com/l/_9wWAfzG8IdSU


42. The distance between two bodies becomes

6 times more than the usual distance , then

force becomes ________

A. 36 times

B. 6 times

C. 12 times

D.  times

Answer: D

Watch Video Solution

1

36

https://dl.doubtnut.com/l/_9wWAfzG8IdSU
https://dl.doubtnut.com/l/_PJ8Q5cNNTQH3


43. Newton's law of gravitation applies to

A. small bodies only (b) plants only

B. all bodies irrespective of their size

C. for solar system

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PJ8Q5cNNTQH3


44. A thief stole a box with valuable article of

weight 'w' and jumped down a wall of height

'h'. Before he reached the ground he had

experienced a load of

A. 

B. zero

C. 2

D. 2w

Answer: B

Watch Video Solution

w

2

https://dl.doubtnut.com/l/_wtUGKbQWPLhA


Watch Video Solution

45. Action of a lever is an example of __________

force .

A. balanced

B. unbalanced

C. parallel force

D. like parallel force

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wtUGKbQWPLhA
https://dl.doubtnut.com/l/_kOvfbAV99y3W


46. If the radius of the Earth were to shrink by

one percent its mass remaining the same, the

acceleration due to gravity on the Earth's

surface would ________

A. decrease

B. remains unchanged

C. increase

D. none of these

Answer: C

https://dl.doubtnut.com/l/_kOvfbAV99y3W
https://dl.doubtnut.com/l/_ftL98ZvdNJaM


Watch Video Solution

47. The force of gravitation between two

bodies in the universe does not depend on

___________ .

A. the distance between them

B. the product of their masses

C. the sum of their masses

D. the gravitational constant

Answer: C

https://dl.doubtnut.com/l/_ftL98ZvdNJaM
https://dl.doubtnut.com/l/_OuZJKzR8l2Tr


Watch Video Solution

48. The product of mass & velocity of a moving

body is __________.

A. force

B. direction

C. linear momentum

D. inertia

Answer: C

https://dl.doubtnut.com/l/_OuZJKzR8l2Tr
https://dl.doubtnut.com/l/_t7lf4mBasjmW


Watch Video Solution

49. _________ stated that the natural state of all

Earthly bodies is at rest .

A. Aristole

B. Galileo

C. newton

D. Pluto

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_t7lf4mBasjmW
https://dl.doubtnut.com/l/_IBTaioloevtt


50. _________ deals with the bodies which are at

rest under the action of forces .

A. Kinetics

B. Kinematics

C. Dynamics

D. none of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_IBTaioloevtt
https://dl.doubtnut.com/l/_i9VdPfyjpWpE


51. At the surface of Earth an object falling

freely experience an acceleration of ___________

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9.4ms− 2

9.1ms− 1

9.8ms− 2

9.6ms− 2

https://dl.doubtnut.com/l/_e1snb4t63guc
https://dl.doubtnut.com/l/_R12GcjSYWddo


52. The magnitude of the weight is expressed

in the units of

A. displacement

B. mass (kg)

C. force (Newton )

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_R12GcjSYWddo


53. A lift of mass 1000 kg which is moving with

an acceleration of  in upward direction

, then the tension developed in string which is

connected to lift is ___________

A. 10,000 N

B. 10,800 N

C. 9800 N

D. 11000 N

Answer: B

Watch Video Solution

1ms− 2

https://dl.doubtnut.com/l/_LJ2xRAtkhJ9g


Watch Video Solution

54. The value of acceleration due to gravity on

surface of the moon is _______  .

View Text Solution

ms− 2

55. Newton's law of _____________ helps in

dicovering new stars and planets.

A. inertia

B. gravitation

https://dl.doubtnut.com/l/_LJ2xRAtkhJ9g
https://dl.doubtnut.com/l/_5rhKxcxGzteu
https://dl.doubtnut.com/l/_zV1m5V1XtM1R


C. motion

D. linear momentum

Answer: B

Watch Video Solution

56. Linear momentum is p=____________

A. 

B. 

C. 

m × b

m × v

m × a

https://dl.doubtnut.com/l/_zV1m5V1XtM1R
https://dl.doubtnut.com/l/_JyIuxaAmiYTL


D. 

Answer: B

Watch Video Solution

f × n

57. The weight of an object in a satellite

orbiting around the Earth is ___________

A. zero

B. actual weight

C. less than the actual weight

https://dl.doubtnut.com/l/_JyIuxaAmiYTL
https://dl.doubtnut.com/l/_mtYjq7fpd6RY


D. greater than the actual weight

Answer: A

Watch Video Solution

58. The motion of falling bodies towards Earth

is due to _________

A. gravitational rotation

B. weightless mass

C. acceleration due to gravity

https://dl.doubtnut.com/l/_mtYjq7fpd6RY
https://dl.doubtnut.com/l/_cSU3qmX7qKUj


D. gravitational force

Answer: D

Watch Video Solution

59. Which quantity is zero at the centre of the

Earth ?

A. mass

B. weight

C. both mass & weight

https://dl.doubtnut.com/l/_cSU3qmX7qKUj
https://dl.doubtnut.com/l/_YrH5whITP543


D. none

Answer: B

Watch Video Solution

60. What would happen , if the force of gravity

disappears suddenly on Earth ?

A. All objects would move in a straight line ,

upwards .

B. All object will float

https://dl.doubtnut.com/l/_YrH5whITP543
https://dl.doubtnut.com/l/_kuSVkylQjnpv


C. not possible

D. cannot say

Answer: A

Watch Video Solution

61. The acceleration due to gravity varies on

Earth with

A. distance

B. height

https://dl.doubtnut.com/l/_kuSVkylQjnpv
https://dl.doubtnut.com/l/_qaMfplVBD25n


C. mass of an object

D. all the above

Answer: D

Watch Video Solution

62. The CGS unit of force is ________

A. Newton

B. Nm

C. dyne

https://dl.doubtnut.com/l/_qaMfplVBD25n
https://dl.doubtnut.com/l/_wl6Nhq9vnJ9D


D. kg f

Answer: C

Watch Video Solution

63. The apparent weight of a person moving

upward in a lift is given by _________

A. 

B. 

C. 

R = W

R = 0

R > W

https://dl.doubtnut.com/l/_wl6Nhq9vnJ9D
https://dl.doubtnut.com/l/_TzaQWDSn4EHd


D. 

Answer: C

View Text Solution

R < W

64. If lift is accelerated in the upward direction

, then the apparent weight of a body is

___________.

A. more than true weight

B. equal to the true weight

https://dl.doubtnut.com/l/_TzaQWDSn4EHd
https://dl.doubtnut.com/l/_XJvfrfpZJsOQ


C. less than true weight

D. not equal to the true weight

Answer: A

Watch Video Solution

65. A rollercoaster exhibits the phenomenon

of ___________

A. linear momentum

B. apparent weight

https://dl.doubtnut.com/l/_XJvfrfpZJsOQ
https://dl.doubtnut.com/l/_jPTyQZWKzOwD


C. weightlessness

D. impulses

Answer: C

View Text Solution

66. The value of universal gravitational

constituent is _____________

A. 

B. 

6.743 × 10− 11Nm2kg− 1

6.674 × 10− 11Nm2kg− 2

https://dl.doubtnut.com/l/_jPTyQZWKzOwD
https://dl.doubtnut.com/l/_9OPKF5Nkdnr4


C. 

D. 

Answer: B

View Text Solution

6.743 × 10− 11Nm− 2kg

6.673 × 10− 1Nm− 2kg− 1

67. The gravitational force between two

objects becomes ________ when the masses of

both objects are halved without altering the

distance between them .

https://dl.doubtnut.com/l/_9OPKF5Nkdnr4
https://dl.doubtnut.com/l/_dRN9dj27KSCW


Additional Questions Answer Fill In The Blanks

Cover Whole Unit

A. 

B. 

C. f

D. 2f

Answer: A

Watch Video Solution

f

4

f

2

https://dl.doubtnut.com/l/_dRN9dj27KSCW


1. ___________ deals with the motion of bodies

without considering the cause of motion .

Watch Video Solution

2. Kinetics deal with the motion of bodies

considering the __________.

Watch Video Solution

https://dl.doubtnut.com/l/_sEWNjHddFyKO
https://dl.doubtnut.com/l/_SFHESdiecsvq


3. According to Aristotle , a moving body

naturally comes to rest without any external

force is termed as ____________

Watch Video Solution

4. If the body behaves contrary to their own

natural state is called _____________ .

Watch Video Solution

https://dl.doubtnut.com/l/_mgLrGYyE28Gg
https://dl.doubtnut.com/l/_EYzTrhbGEhU4


5. The two different mass bodies dropped , the

_________ falls faster .

Watch Video Solution

6. Bodies of different size , shape and mass fall

from a height in _________ reach the ground at

the same time .

Watch Video Solution

https://dl.doubtnut.com/l/_JbG7xZ6sMoBB
https://dl.doubtnut.com/l/_ydtmAkpgPsN5


7. A body does not change its state during the

period of time , then it is said to be at

__________

Watch Video Solution

8. A body changes its state , then it is said to

be in ______________.

Watch Video Solution

https://dl.doubtnut.com/l/_cfDHrqVteeEr
https://dl.doubtnut.com/l/_gpAxhaJiBOhd


9. The resistance of a body to change its state

of rest is called ___________. '

Watch Video Solution

10. The product of mass & velocity of a moving

body is __________.

Watch Video Solution

https://dl.doubtnut.com/l/_sZknc5ta8IVW
https://dl.doubtnut.com/l/_riX6p48hhVxv


11. A sharp turn while driving a car , tend to

lean sideways is due to __________.

Watch Video Solution

12. Momentum is a ___________ quantity .

Watch Video Solution

13. An athlete can take a longer jump if he

comes running from a distance compared to

https://dl.doubtnut.com/l/_KmnDEfgKJ6ya
https://dl.doubtnut.com/l/_NMczqBxZkaty
https://dl.doubtnut.com/l/_8Lbf5vhmiAUn


that when he jumps suddenly. This type of

inertia is _________.

Watch Video Solution

14. When a force of 1 N acts on a mass of 1 kg

that is forced to move , the object moves with

___________.

Watch Video Solution

https://dl.doubtnut.com/l/_8Lbf5vhmiAUn
https://dl.doubtnut.com/l/_3MLNCeQPnX3p


15. The acceleration is a body is due to

__________

Watch Video Solution

16. When an object undergoes acceleration

_________

Watch Video Solution

https://dl.doubtnut.com/l/_wZ2xOFQzUTb4
https://dl.doubtnut.com/l/_m9T3As7cRM21


17. Non- contact force is also known as

__________ force .

Watch Video Solution

18. In balanced force , the resultant force is

equal to _____________

Watch Video Solution

https://dl.doubtnut.com/l/_rCWENeRxnbBO
https://dl.doubtnut.com/l/_6I2zTloJD8Kr


19. The combined effect of multiple forces is

balanced by a single force is called _________.

Watch Video Solution

20. The force which is equal to resultant but

opposite in direction is called as __________.

Watch Video Solution

https://dl.doubtnut.com/l/_0OHdCnKXc2D8
https://dl.doubtnut.com/l/_70wgORzwiUhJ


21. Like parallel forces are two forces that act

along _______ direction .

Watch Video Solution

22. Torque is a _________ quantity .

Watch Video Solution

23. Unit of torque is ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_yWZo10y4TRYc
https://dl.doubtnut.com/l/_pgV7mebSSPgs
https://dl.doubtnut.com/l/_6i8x2id5lQ33


24. Two equal and unlike parallel force is called

___________.

Watch Video Solution

25. If the object is rotated in clockwise

direction , couple is ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_6i8x2id5lQ33
https://dl.doubtnut.com/l/_bWuOnvg0GaSB
https://dl.doubtnut.com/l/_qsnf6KU3xXn4


26. The moment of a couple is the product of

___________ and perpendicular distance between

the forces.

Watch Video Solution

27. Steering wheel is based on the application

of ________.

Watch Video Solution

https://dl.doubtnut.com/l/_ilVgFoNvREin
https://dl.doubtnut.com/l/_5kp3F8O5RaKt


28. The algebraic sum of the moments in the

clockwise direction is ________ to the algebraic

sum moments in the anticlockwise .

Watch Video Solution

29. A body of mass 1 kg is attracted by the

Earth with a force which is equal to

_______________

Watch Video Solution

https://dl.doubtnut.com/l/_m3rjbPKUPElK
https://dl.doubtnut.com/l/_vBIJqFv54Xte
https://dl.doubtnut.com/l/_UPMoOiQXaYQq


30. 1 N is equal to ______.

Watch Video Solution

31. The momentum of massive object at rest is

_____________.

Watch Video Solution

32. The product of mass & velocity of a moving

body is __________.

https://dl.doubtnut.com/l/_UPMoOiQXaYQq
https://dl.doubtnut.com/l/_FDLhV3z7CUzW
https://dl.doubtnut.com/l/_zvw0a3pPXa3a


Watch Video Solution

33. The force of gravitation is inversely related

to _____________.

View Text Solution

34. Weight of the body acquired due to gravity

is _________.

View Text Solution

https://dl.doubtnut.com/l/_zvw0a3pPXa3a
https://dl.doubtnut.com/l/_QC2Y4AC9mcn1
https://dl.doubtnut.com/l/_93zmfZ644K15
https://dl.doubtnut.com/l/_dj0KYhZ7inIv


35. When a person falls freely under the action

of graivty has __________.

View Text Solution

36. The apparent weight of an object ________ in

an elevator while accelerating upward.

View Text Solution

37. Everything in freely falling system, appears

to be __________.

https://dl.doubtnut.com/l/_dj0KYhZ7inIv
https://dl.doubtnut.com/l/_tjaYN5BFflho
https://dl.doubtnut.com/l/_D7pe42Y5jeV3


Watch Video Solution

38. When velocity of lift changes , apparent

weight _______ from true weight.

Watch Video Solution

39. Mass is the measure of __________.

Watch Video Solution

https://dl.doubtnut.com/l/_D7pe42Y5jeV3
https://dl.doubtnut.com/l/_KqI2XdEdC52f
https://dl.doubtnut.com/l/_8qG1woZuQsjW


40. Weight is the measure of force of _______

on an object .

Watch Video Solution

41. The unit of weight is ___________.

Watch Video Solution

42. The unit of mass is __________.

Watch Video Solution

https://dl.doubtnut.com/l/_tYXZyvJVhvsM
https://dl.doubtnut.com/l/_lQwr8cm8iPYh
https://dl.doubtnut.com/l/_caHwCNkE3gZF


43. Mass which is associated with force and

inertia is _________.

Watch Video Solution

44. The weight of a 1 kg mass object an Earth

is ______.

Watch Video Solution

https://dl.doubtnut.com/l/_caHwCNkE3gZF
https://dl.doubtnut.com/l/_ZHVSvwxDNygO
https://dl.doubtnut.com/l/_MxK5T5Aiseu4


45. Mass is associated with gravitational force

is ____________.

View Text Solution

46. Astronauts are not floating but falling

freely due to huge _______.

View Text Solution

https://dl.doubtnut.com/l/_IK5yIS1MGOhQ
https://dl.doubtnut.com/l/_EWqGZSsBqu8d


47. ___________ force keeps the satellite in its

orbit .

View Text Solution

48. To study the dimensions of heavenly

bodies __________ law is used .

Watch Video Solution

https://dl.doubtnut.com/l/_cQufYI1I8KsY
https://dl.doubtnut.com/l/_6IUGGj4jNvgy


49. Mechanics is divide into _______ and

__________.

Watch Video Solution

50. ________ is divided into kinematics and

kinetics .

View Text Solution

https://dl.doubtnut.com/l/_d9Bj80bXS0X3
https://dl.doubtnut.com/l/_dvgV2P71OqU9


51. Kinetics deals with the motion of bodies

considering the __________.

View Text Solution

52. _________ is also called as force independent

.

Watch Video Solution

53. _______ is also called as force dependent .

https://dl.doubtnut.com/l/_ZiGfs5x38aGL
https://dl.doubtnut.com/l/_KOiPvkBIX4nu
https://dl.doubtnut.com/l/_1EXvhm1sExl9


Watch Video Solution

54. ________ of a couple is measured by the

product of any one of the forces and the

perpendicular distance between them .

Watch Video Solution

55. _________ measures the impact of force on a

body .

Watch Video Solution

https://dl.doubtnut.com/l/_1EXvhm1sExl9
https://dl.doubtnut.com/l/_u7OYp7EMMO8U
https://dl.doubtnut.com/l/_AbWzQVkjX8Vi


56. Linear momentum acts in the direction of

_________.

Watch Video Solution

57. Linear momentum measures the ________ on

a body.

Watch Video Solution

https://dl.doubtnut.com/l/_AbWzQVkjX8Vi
https://dl.doubtnut.com/l/_b6D0A99OPIoJ
https://dl.doubtnut.com/l/_r3mk7La74lgu


58. The unit of momentum in SI system is

___________.

Watch Video Solution

59. The unit of momentum in C.G.S system is

_______.

View Text Solution

https://dl.doubtnut.com/l/_ioVjS0M3pOtj
https://dl.doubtnut.com/l/_Eh05gmpRrTE8


60. __________ gives the definition of force as

well as inertia.

View Text Solution

61. Force is an external effort in the form of

__________ or __________.

View Text Solution

https://dl.doubtnut.com/l/_GtGo2r1a2Fbi
https://dl.doubtnut.com/l/_0ITADSEuCvHx


62. __________ has both magnitude and

direction .

View Text Solution

63. _________ act in opposite directions.

View Text Solution

64. __________ force is equal to the vector sum

of all the forces.

https://dl.doubtnut.com/l/_d8zpZvEkYeqW
https://dl.doubtnut.com/l/_cjRzQ2ABMAKT
https://dl.doubtnut.com/l/_9aOI0If6iPRq


View Text Solution

65. Forces with resultant force __________ are

called balanced forces .

Watch Video Solution

66. Forces with resultant force ______ are called

unbalanced forces .

View Text Solution

https://dl.doubtnut.com/l/_9aOI0If6iPRq
https://dl.doubtnut.com/l/_aSdrbKhANxA4
https://dl.doubtnut.com/l/_fTOaBX6N0lw2
https://dl.doubtnut.com/l/_0H8XkalYHl3w


67. If the resultant force acting on a body is

zero , then the body will be in ___________.

View Text Solution

68. Unit of torque is ____________.

Watch Video Solution

69. Rotating effect of a couple is known as

__________.

https://dl.doubtnut.com/l/_0H8XkalYHl3w
https://dl.doubtnut.com/l/_HJKcZA6p1lpE
https://dl.doubtnut.com/l/_8vuzMUTdQD1X


View Text Solution

70. Turning a tap is an example of a

_____________.

Watch Video Solution

71. The C.G.S unit of couple is _______

View Text Solution

https://dl.doubtnut.com/l/_8vuzMUTdQD1X
https://dl.doubtnut.com/l/_w3kI4OSQTc7H
https://dl.doubtnut.com/l/_VC9AYbSKPJql


72. The direction of moment of force or couple

is taken as positive if the body is rotated in

the___________ direction .

Watch Video Solution

73. The direction of moment of force or couple

is taken as _______ if the body is rotated in the

clockwise direction.

Watch Video Solution

https://dl.doubtnut.com/l/_Xr6vKI5nBAVN
https://dl.doubtnut.com/l/_e2qXR09WUEAx
https://dl.doubtnut.com/l/_Pe6IEfAHzWO8


74. Newton's second Law helps us to measure

the ___________.

View Text Solution

75. The SI unit of force is __________

Watch Video Solution

76. A large force acting for a very short interval

of time is called __________.

https://dl.doubtnut.com/l/_Pe6IEfAHzWO8
https://dl.doubtnut.com/l/_mc2Z6kL58Ikp
https://dl.doubtnut.com/l/_H59ON4xAQ5c2


View Text Solution

77. Impulse is equal to magnitude of change in

___________.

View Text Solution

78. A cricketer pulls his hands back while

catching a ball to lower the __________ on his

hands .

Watch Video Solution

https://dl.doubtnut.com/l/_H59ON4xAQ5c2
https://dl.doubtnut.com/l/_0fCGKQkcuut1
https://dl.doubtnut.com/l/_GzT62cAIuG9n


79. What is Gravitational unit of force ?

Watch Video Solution

80. 1 g of f= _________ dyne .

Watch Video Solution

81. The ________ of a body does not change as

long as no external force acts on it .

View Text Solution

https://dl.doubtnut.com/l/_51HSI49ZTarE
https://dl.doubtnut.com/l/_twiXsNbNQQmk
https://dl.doubtnut.com/l/_TfYwmSWMnKxL


82. ________ is based on the law of conservation

of linear momentum .

View Text Solution

83. The mass of rocket decreases with

___________.

View Text Solution

https://dl.doubtnut.com/l/_TfYwmSWMnKxL
https://dl.doubtnut.com/l/_uD0NMPw0BcZD
https://dl.doubtnut.com/l/_AB1s4P8tphTJ


84. As the mass of a rocket decreases with

altitude , it its ____ increases.

View Text Solution

85. The velocity at which a rocket is able to

escape from the ___________ of the Earth is

called escape velocity.

Watch Video Solution

https://dl.doubtnut.com/l/_kOxnDzj3md5B
https://dl.doubtnut.com/l/_VrZDmsrNljFX


86. Force between the ___________ is always

attractive .

Watch Video Solution

87. _________ does not depend on the medium

in which it is placed .

Watch Video Solution

https://dl.doubtnut.com/l/_UfHCxZczI841
https://dl.doubtnut.com/l/_Q0OmPEmqizQf


88. The acceleration of a falling object is due

to the Earth's __________ force .

View Text Solution

89. The reaction force R exerted by lift's

surface is known as ______.

Watch Video Solution

https://dl.doubtnut.com/l/_YYAxRgJBvaWy
https://dl.doubtnut.com/l/_Fixgg7C558Qh


90. ___________'R' of the person that arise ,

depending on the motion of the light .

Watch Video Solution

91. When lift is at rest , the apparent weight is

________ to actual weight .

Watch Video Solution

https://dl.doubtnut.com/l/_qk9FU9CcqJ1f
https://dl.doubtnut.com/l/_fDTbUVeE2nNd


92. The condition for lift falling down freely is

____________.

Watch Video Solution

93. The effect take place while falling freely in

roller coaster is _________.

View Text Solution

https://dl.doubtnut.com/l/_oPeyW8S0H6Mr
https://dl.doubtnut.com/l/_Sy89SiRHl0Js


94. There is no gravity in the orbiting space

station around the Earth . So the astronauts

feel weightlessness .

Watch Video Solution

95. Newton's law of _____________ helps in

dicovering new stars and planets.

Watch Video Solution

https://dl.doubtnut.com/l/_3kpedrnBlZYJ
https://dl.doubtnut.com/l/_A4fmTdVAkhTq


96. The SI unit of gravity is ___________.

View Text Solution

97. Mass of the Earth is ___________kg.

View Text Solution

98. The value of Universal gravitational

constant is __________.

View Text Solution

https://dl.doubtnut.com/l/_yUTnr4caPPbC
https://dl.doubtnut.com/l/_rb8s5RcvKkJN
https://dl.doubtnut.com/l/_S6Sft0ezQhvA


99. Geometric radius of the Earth is ___________

in the equatorial region .

Watch Video Solution

100. Geometric radius of the Earth is ___________

in the polar region .

Watch Video Solution

https://dl.doubtnut.com/l/_S6Sft0ezQhvA
https://dl.doubtnut.com/l/_TNXZ62NxS3i3
https://dl.doubtnut.com/l/_ys3jr8F2Gyr5


101. The value of 'g' is maximum in the ______

region .

Watch Video Solution

102. The value of 'g' of minimum in the ______

region .

Watch Video Solution

103. The value of 'g' decreases with __________.

https://dl.doubtnut.com/l/_JoI5xeskEjdE
https://dl.doubtnut.com/l/_HZnTXwuAqWqE
https://dl.doubtnut.com/l/_hSMMttNpPwd9


View Text Solution

104. The value of gravity is zero at the ________.

View Text Solution

105. The unit of mass is __________.

Watch Video Solution

https://dl.doubtnut.com/l/_hSMMttNpPwd9
https://dl.doubtnut.com/l/_ml1UZafW7d79
https://dl.doubtnut.com/l/_RQmPte2mBKHG


106. The value of acceleration due to gravity

on the moon is _________

Watch Video Solution

107. The motion of a body where the

acceleration is equal to the acceleration due

to gravity is called _________.

Watch Video Solution

https://dl.doubtnut.com/l/_nu6YQNna49SE
https://dl.doubtnut.com/l/_wQgmhSnxzltE


108. ____________ are said to be in a state of

weightlessness.

View Text Solution

109. Gears in vehicles , see saw and steering

wheel are the application of __________.

Watch Video Solution

110. ________ law is also called as law of force .

https://dl.doubtnut.com/l/_kGd4nRhZ0tbz
https://dl.doubtnut.com/l/_x935mPft4Fox
https://dl.doubtnut.com/l/_sjlXjNVfh1cH


View Text Solution

111. In circular motion , the acceleration

produced along the radius is called as

____________.

View Text Solution

112. Impulse is also equal to the ________ of

change in momentum .

View Text Solution

https://dl.doubtnut.com/l/_sjlXjNVfh1cH
https://dl.doubtnut.com/l/_pkpHgXDRWKLw
https://dl.doubtnut.com/l/_SshVHf25Yft5


113. Dimension of ________can be measured

using gravitation law .

View Text Solution

114. One of the __________ in the motion of stars

is called Wobble.

Watch Video Solution

https://dl.doubtnut.com/l/_SshVHf25Yft5
https://dl.doubtnut.com/l/_1s8PO74EBba6
https://dl.doubtnut.com/l/_3xKimfiEBrdv


115. The product of ________ and ________ is called

impulse .

Watch Video Solution

116. ________ is the weight of the body acquired

due to the action of gravity and other external

forces .

View Text Solution

https://dl.doubtnut.com/l/_gwDgsw76y4Gz
https://dl.doubtnut.com/l/_W9n45rrdzmW8


117. Galileo stated that , the ___________ of all

Earthly bodies is at rest .

View Text Solution

118. At natural state , all earthly bodies are in a

state of rest or in ____________.

View Text Solution

https://dl.doubtnut.com/l/_wGlyjLJwXSq2
https://dl.doubtnut.com/l/_mgnnMESWr4Eq


119. When dropped from a height in vacuum ,

bodies of different size , shape and mass reach

the ground at the __________.

Watch Video Solution

120. When you shake the branches of a tree

some fruits and leaves fall down , this is an

example of _________

Watch Video Solution

https://dl.doubtnut.com/l/_ivlXU8y1Onbu
https://dl.doubtnut.com/l/_jZrOxLWOXHMj
https://dl.doubtnut.com/l/_nDtJryUDjgMK


121. A Tug of war is an example of a _____________

Watch Video Solution

122. When a body is in __________, it experience

balanced force .

Watch Video Solution

123. When the resultant force of a body is

__________ , then the body experiences

https://dl.doubtnut.com/l/_nDtJryUDjgMK
https://dl.doubtnut.com/l/_fbzkYV4M2F7I
https://dl.doubtnut.com/l/_TogKoE7bAhCZ


unbalanced force .

Watch Video Solution

124. Drawing water from a well is an example

of _________.

Watch Video Solution

125. The turning effect of applied force is

___________ when the distance between the fixed

edge and the point of application is more .

https://dl.doubtnut.com/l/_TogKoE7bAhCZ
https://dl.doubtnut.com/l/_Eri5xrvG1HKi
https://dl.doubtnut.com/l/_wV8ui6nD8NJ9


Watch Video Solution

126. The axis of a fixed edge about which the

door is rotated is called _________.

Watch Video Solution

127. When the net force acting on a body is

not equal to zero than its __________ changes .

Watch Video Solution

https://dl.doubtnut.com/l/_wV8ui6nD8NJ9
https://dl.doubtnut.com/l/_e1FpzkVhXXSO
https://dl.doubtnut.com/l/_ZYNpF7aLveIA
https://dl.doubtnut.com/l/_nFjfKtiAcq8F


128. The force which produces centripetal

acceleration is called _________.

View Text Solution

129. The amount of force required to produce

an acceleration of  in a body of mass 1

kg called ____________.

View Text Solution

1ms− 2

https://dl.doubtnut.com/l/_nFjfKtiAcq8F
https://dl.doubtnut.com/l/_IENChilRCrLZ


130. Flying motion of birds in the air is an

example of Newton's __________ Law of motion.

Watch Video Solution

131. The apparent weight of a person moving

upward in a lift will be ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_cE4q0IyTJa9G
https://dl.doubtnut.com/l/_Hd7NMQYRiUUH


132. The apparent weight of a person moving

in a lift will be equal to the actual weight ,

when the lift is at _____________.

Watch Video Solution

133. A body needs a _________ to move , or bring

to rest or change its velocity .

View Text Solution

https://dl.doubtnut.com/l/_B7hi13JH0Kxy
https://dl.doubtnut.com/l/_qQ4uI70go0tc


134. In vacuum , two objects with a mass 1 kg

and 2 kg are dropped from same height and

they reach the ground at ________.

Watch Video Solution

135. Like parallel forces are two forces that act

along _______ direction .

Watch Video Solution

https://dl.doubtnut.com/l/_0dMyjDP6B1ZM
https://dl.doubtnut.com/l/_bic3wvBSJ3W5


136. _____________ forces are act along opposite

directions.

Watch Video Solution

137. If the resultant force is not equal to zero ,

then it causes the motion of the body due to

_________.

Watch Video Solution

https://dl.doubtnut.com/l/_s5Qsw7M9WHdF
https://dl.doubtnut.com/l/_WvrL2jgFxwDf


138. Force on a weight balance is an example

for ________.

Watch Video Solution

139. Turning a tap , winding or unwinding a

screw spinning of a top are example for

__________.

Watch Video Solution

https://dl.doubtnut.com/l/_0L8HVmiSC3GQ
https://dl.doubtnut.com/l/_GVF3TZG0icDG


140. _________ law always act on two different

bodies only .

Watch Video Solution

141. The algebraic sum of momentum after

collison is numerically equal to algebraic sum

of momentum before the collision in the

absence of _________.

Watch Video Solution

https://dl.doubtnut.com/l/_73ksLtGRruJa
https://dl.doubtnut.com/l/_UgCDG1Vxn1a0
https://dl.doubtnut.com/l/_Orhe5mhCfviZ


142. Every particle of matter in this universe

________ every other particles with a force .

View Text Solution

143. The value of 'g' __________ at all points on

the surface of Earth .

View Text Solution

144. The mass of Earth is ________.

https://dl.doubtnut.com/l/_Orhe5mhCfviZ
https://dl.doubtnut.com/l/_0ItTi3zmp8dI
https://dl.doubtnut.com/l/_4vj1oKg0RT7k


Additional Questions Answer Statement

Whether The Following Statements Are True Or

False Correct The Statement If It Is False

View Text Solution

145. A boy of mass 50 kg runs with a force of

100N , his acceleration would be ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_4vj1oKg0RT7k
https://dl.doubtnut.com/l/_C1kyvBbSi5rZ


1. In the recoiling of a gun on firing , both the

linear momentum and kinetic energy are

conserved .

View Text Solution

2. Change in linear momentum can be

produced by applying larger force for a longer

period of time.

View Text Solution

https://dl.doubtnut.com/l/_xPvMVghMookL
https://dl.doubtnut.com/l/_ImTet2PTvQ71
https://dl.doubtnut.com/l/_T6Jwd3nmnOR6


3. In free fall under gravity , a body appears to

be weightless.

View Text Solution

4. The relation below absolute units of force

on MKS and C.G. S system is 1 N= dyne.

View Text Solution

105

5. Newton's first law defines force and inertia .

https://dl.doubtnut.com/l/_T6Jwd3nmnOR6
https://dl.doubtnut.com/l/_BPYRQGOkKs3B
https://dl.doubtnut.com/l/_EMGYgFQwkBFk


View Text Solution

6. The unit of force and impulse is same .

View Text Solution

7. Galileo suggested, that an external force is

required to keep a body in uniform motion.

View Text Solution

https://dl.doubtnut.com/l/_EMGYgFQwkBFk
https://dl.doubtnut.com/l/_Wj15bj9M2Vvj
https://dl.doubtnut.com/l/_aotiCHEgGoLd


8. Force of action and reaction never cancel

each other as they are acting at different

bodies.

View Text Solution

9. Two bodies of different masses are allowed

to fall freely from the same height , then both

the bodies reach the Earth together .

View Text Solution

https://dl.doubtnut.com/l/_kdCMUH59YhS3
https://dl.doubtnut.com/l/_IMmXaglBtffa
https://dl.doubtnut.com/l/_VUz5psZzsQ1A


10. A person's apparent weight inside the lift

increases when lift is accelerated upward .

View Text Solution

11. Newtons law of gravitation helps in

discovering new stars and planets .

View Text Solution

https://dl.doubtnut.com/l/_VUz5psZzsQ1A
https://dl.doubtnut.com/l/_ERQW8Q5RN6Yo


12. The value of 'g' is maximum at the

equatorial region and minimum in the polar

region .

View Text Solution

13. Acceleration due to gravity can also be

expressed as  .

View Text Solution

g =
GM

R2

https://dl.doubtnut.com/l/_mSJNsTSOMHu5
https://dl.doubtnut.com/l/_CZj9gpldQvPT


14. Value of 'g' is zero at the centre of the

Earth .

View Text Solution

15. 1 kg f=980 dyne

View Text Solution

16. The velocity which is sufficient to just

escape from the gravitational pull of the Earth

https://dl.doubtnut.com/l/_7801o7CIu72S
https://dl.doubtnut.com/l/_w7d2cWTdHCU3
https://dl.doubtnut.com/l/_87jdZtViPOFd


is called variable velocity .

View Text Solution

17. The geometric radius of the Earth is

maximum in the equatorial region and

minimum in the polar region .

View Text Solution

18. The value of acceleration due to gravity on

the surface of the moon is  .3.625ms− 2

https://dl.doubtnut.com/l/_87jdZtViPOFd
https://dl.doubtnut.com/l/_yOHbTiizKD7j
https://dl.doubtnut.com/l/_MKNR8PZ8RTk8


Additional Questions Answer Match The

Following

View Text Solution

19. Astronauts are not floating but falling

freely around the Earth due to their huge

centripetal acceleration .

View Text Solution

https://dl.doubtnut.com/l/_MKNR8PZ8RTk8
https://dl.doubtnut.com/l/_8bQhtwRqy8s8


1. 

View Text Solution

2. 

View Text Solution

3. 

View Text Solution

https://dl.doubtnut.com/l/_uJZqT0NJxcUZ
https://dl.doubtnut.com/l/_nJovwJRnPlWN
https://dl.doubtnut.com/l/_vxJWDo2nxwM2


4. 

View Text Solution

5. 

View Text Solution

6. 

View Text Solution

https://dl.doubtnut.com/l/_beNBnR9KI2FY
https://dl.doubtnut.com/l/_XogX0JTjHlZv
https://dl.doubtnut.com/l/_aN7gVWiDEMPV


7. 

View Text Solution

8. 

View Text Solution

9. 

View Text Solution

https://dl.doubtnut.com/l/_Yg5ToBo2XUWB
https://dl.doubtnut.com/l/_v1s2Sc5CGqiS
https://dl.doubtnut.com/l/_wkUzXhI8kQPe


Additional Questions Answer Assertion And

Reason

10. 

View Text Solution

1. Assertion : A rocket moves forward by

pushing the surrounding air backwards . 

Reason : It derives the necessary thrust to

move forward , according to Newton's second

law .

https://dl.doubtnut.com/l/_kOCjCNAZ8JoM
https://dl.doubtnut.com/l/_O2eoKIoe7Y2U


A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: D

https://dl.doubtnut.com/l/_O2eoKIoe7Y2U


Watch Video Solution

2. Assertion : No force is required to move a

body uniformly along a straight line . 

Reason : Because F=ma=m(0)=0.

A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_O2eoKIoe7Y2U
https://dl.doubtnut.com/l/_husSNGtWkm1o


assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: A

Watch Video Solution

3. Assertion : A force of 1 kg force produces an

acceleration of  in a body of mass 1 kg . 


Reason : a=F/m

1m/s2

https://dl.doubtnut.com/l/_husSNGtWkm1o
https://dl.doubtnut.com/l/_Jna4bPHgXvsi


A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: D

https://dl.doubtnut.com/l/_Jna4bPHgXvsi


Watch Video Solution

4. Assertion : The net force acting on a body is

zero. 

Reason : The body is moving uniformly along a

straight line .

A. Both assertion and reason are true and

reason is correct explanation of

assertion

https://dl.doubtnut.com/l/_Jna4bPHgXvsi
https://dl.doubtnut.com/l/_p6qSUy6Dr8Dn


B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_p6qSUy6Dr8Dn


5. Assertion : Action and reaction force

balance each other . 

Reason : Both forces act always on two

different bodies .

A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

https://dl.doubtnut.com/l/_Jnx5t5FMj1pF


C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: C

Watch Video Solution

6. Assertion : If a pendulum is suspended in a

lift and lift is falling freely , then its time

period becomes infinite . 

https://dl.doubtnut.com/l/_Jnx5t5FMj1pF
https://dl.doubtnut.com/l/_KNagGHtjgVTt


Reason : Free falling body has acceleration

equal to acceleration due to gravity .

A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

https://dl.doubtnut.com/l/_KNagGHtjgVTt


D. Assertion is false , but the reason is true

.

Answer: A

Watch Video Solution

7. Assertion : If Earth suddenly stops rotating ,

the value 'g' becomes same at all places . 

Reason : 'g' depends on the distance between

two objects .

https://dl.doubtnut.com/l/_KNagGHtjgVTt
https://dl.doubtnut.com/l/_T508uXdJumXp


A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: B

https://dl.doubtnut.com/l/_T508uXdJumXp


Watch Video Solution

8. Assertion : The ratio of inertial mass to

gravitational mass is equal to one . 

Reason : The inertial mass & gravitational

mass of a body are equivalent .

A. Both assertion and reason are true and

reason is correct explanation of

assertion

https://dl.doubtnut.com/l/_T508uXdJumXp
https://dl.doubtnut.com/l/_srahSe7ZhQER


B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_srahSe7ZhQER


9. Assertion : Like forces equal in magnitude

simultaneously acts on a body leads

translatory or rotatory motion . 

Reason : Act in the same direction of action of

force leads translatory , acting tangent to the

body leads rotatory .

A. Both assertion and reason are true and

reason is correct explanation of

assertion

https://dl.doubtnut.com/l/_wv4nvzTFX434


B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wv4nvzTFX434


10. Assertion : The impact of a force is more if

the velocity and mass of the body is more . 

Reason : The linear momentum measures the

impact of a force on a body.

A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

https://dl.doubtnut.com/l/_AMCab1mg9rvX


C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: A

Watch Video Solution

11. Assertion : Propulsion of rocket is based on

escape velocity . 

Reason : Velocity which is sufficient to esacpe

https://dl.doubtnut.com/l/_AMCab1mg9rvX
https://dl.doubtnut.com/l/_hLpN2aehQpuT


from Earth's gravitational pull is called escape

velocity .

A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

https://dl.doubtnut.com/l/_hLpN2aehQpuT


D. Assertion is false , but the reason is true

.

Answer: D

Watch Video Solution

12. Assertion : Gravitational force exerted on a

body is weight . 

Reason : Acceleration due to gravity for Earth

is  .9.8ms− 2

https://dl.doubtnut.com/l/_hLpN2aehQpuT
https://dl.doubtnut.com/l/_XkEY0BWECemr


A. Both assertion and reason are true and

reason is correct explanation of

assertion

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: B

https://dl.doubtnut.com/l/_XkEY0BWECemr


Watch Video Solution

13. Assertion : Astronauts are not floating but

falling freely around the Earth due to their

huge orbital velocity . 

Reason : Astronauts and spacestation have

equal acceleration , they are under free fall

condition .

A. Both assertion and reason are true and

reason is correct explanation of

assertion

https://dl.doubtnut.com/l/_XkEY0BWECemr
https://dl.doubtnut.com/l/_NglHGOpyt0ij


B. Both assertion and reason are true but

reason is not the correct explanation of

assertion

C. Assertion is true but reason is false

D. Assertion is false , but the reason is true

.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NglHGOpyt0ij


Additional Questions Answer Use The Analogy To

Fill In The Blank

1. Unit of linear force : N:: Unit of torque

:__________

Watch Video Solution

2. Unit of force of CGS is 1 dyne =  ::

Unit of force is SI is 1N =_______

Watch Video Solution

1gcms− 2

https://dl.doubtnut.com/l/_vC7AtTPQDJyH
https://dl.doubtnut.com/l/_XyMvmTiw3lZW


3. Natural motion : Force independent ::

Violent motion :__________

Watch Video Solution

4. Opening a pen cap : __________ :: Opening the

door : moment of force

View Text Solution

https://dl.doubtnut.com/l/_ldCeWjiRaU98
https://dl.doubtnut.com/l/_Tjkd1UVO4lCr


5. Clockwise moment : negative, :: Anti-

clockwise moment :__________

View Text Solution

6. Statics : rest :: Dynamics :_________

Watch Video Solution

7. Law of inertia : Newton's 1 law :: Law of force

: ___________

https://dl.doubtnut.com/l/_jujqjawy5yPP
https://dl.doubtnut.com/l/_XjZDi9zOmZaS
https://dl.doubtnut.com/l/_jTvqgpOIcOLZ


Watch Video Solution

8. Torque  :  :: Moment of couple (M)

: _________

Watch Video Solution

(τ) F × d

9. Upward motion :  :: Downward

motion : ___________

View Text Solution

R > W

https://dl.doubtnut.com/l/_jTvqgpOIcOLZ
https://dl.doubtnut.com/l/_YRkjeJEFEbMJ
https://dl.doubtnut.com/l/_zeLcz3Sgn9wU


Additional Questions Answer Arrange The

Following In Correct Sequence

Additional Questions Answer Very Short Answers

1. Arrange the scientists according to their

periods and achievements. 

Galileo , Einstein , Newton , Nicolaus

Copernicus

Watch Video Solution

https://dl.doubtnut.com/l/_gAZv7mDZlmdv


1. Bodies of larger mass need greater effort to

put them in motion. Why ?

Watch Video Solution

2. A constant force F acts on a truck over a

distance s and for a time t. What is the

momentum gained by the truck ?

Watch Video Solution

https://dl.doubtnut.com/l/_IjUAtuceMIUz
https://dl.doubtnut.com/l/_xHnMRTOm4qqv


3. A force of 1 N acts on a body of mass 1 g ,

Calculate the acceleration produced in the

body .

Watch Video Solution

4. If a force is acting on a moving body

perpendicular to the direction of motino ,

then what will be its effect on the speed of

thebody ?

View Text Solution

https://dl.doubtnut.com/l/_2sBY6WAagHvU
https://dl.doubtnut.com/l/_5UUnisl5l0HP


5. If the net force acting on a body be zero ,

then will the body remain necessarily in rest

position ?

View Text Solution

6. A lift is accelerated upward . What is

apparent weight of a person inside the lift ?

Watch Video Solution

https://dl.doubtnut.com/l/_5UUnisl5l0HP
https://dl.doubtnut.com/l/_8aaK7VxwM0Uf
https://dl.doubtnut.com/l/_AN7zRz41mX8g
https://dl.doubtnut.com/l/_kzCWzSiYXt5j


7. When will be the force exerted by the floor

of an elevator on the foot of a person

standing there is more than the weight of the

person ?

View Text Solution

8. When a ball of 0.5 kg mass moving with a

speed of 20  rebounds after striking

normally a ferfectly elastic wall. Find the

change in momentum.

Watch Video Solution

ms− 1

https://dl.doubtnut.com/l/_kzCWzSiYXt5j
https://dl.doubtnut.com/l/_Ipb3L2FCFncJ


9. Thief jumps from roof of a house with a box

of weight W on his head . What will be the

weight of the box as experienced by the thief

during jump ?

View Text Solution

10. Action and reaction forces do not balance

each other . Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_Ipb3L2FCFncJ
https://dl.doubtnut.com/l/_d6pEwLSOgMDB
https://dl.doubtnut.com/l/_8De9Ebg63EuM


11. Why does a gun recoil when a bullet is fired

?

View Text Solution

12. A brinjal vendor sells his brinjal using a

beam balance in an elevator . Will he gain

more if the elevator is accelerating up ?

View Text Solution

https://dl.doubtnut.com/l/_YNnB2Ebr15mo
https://dl.doubtnut.com/l/_p3HdTkC4OJV7


13. Which law is used in geotropism ?:

View Text Solution

14. A boy puts a heavy box of mass M on his

head and jumps down from the top of a

multistoried building to the ground . How

much is the force exerted by the box on his

head during his force fall ? Does the force of

gravity increase during the fall ?

View Text Solution

https://dl.doubtnut.com/l/_qRf1xk940bg0
https://dl.doubtnut.com/l/_fk6yHAb8bBqg


15. What is meant by natural motion ?

View Text Solution

16. What is equilibrant ?

View Text Solution

17. What is Torque ? (or ) moment of force ?

View Text Solution

https://dl.doubtnut.com/l/_fk6yHAb8bBqg
https://dl.doubtnut.com/l/_pl0kXWAdIb8X
https://dl.doubtnut.com/l/_W0WiUudSnSgc
https://dl.doubtnut.com/l/_uqZuRYBzw3Zz


18. Write the convention rule of couple .

View Text Solution

19. What is the use of Steering Wheel ?

View Text Solution

20. Define 1N.

View Text Solution

https://dl.doubtnut.com/l/_uqZuRYBzw3Zz
https://dl.doubtnut.com/l/_ueFpTstnibGk
https://dl.doubtnut.com/l/_bDr70PYeFVMc
https://dl.doubtnut.com/l/_1THXv11Q42Ne


21. Define 1 dyne .

View Text Solution

22. What is Unit force ?

View Text Solution

23. What is Impulsive force ?

View Text Solution

https://dl.doubtnut.com/l/_1THXv11Q42Ne
https://dl.doubtnut.com/l/_eG3KPTioT9MA
https://dl.doubtnut.com/l/_C3YZxdxCbMFh
https://dl.doubtnut.com/l/_JmlnUjNfycch


Additional Questions Answer Short Answers

24. Define impulse .

Watch Video Solution

25. What is meant by Apparent weight ?

Watch Video Solution

https://dl.doubtnut.com/l/_JmlnUjNfycch
https://dl.doubtnut.com/l/_cPkbqTFjs8vq
https://dl.doubtnut.com/l/_aAmGK4FiW2QK


1. An athlete runs a certain distance before

taking a long jump . Why ?

Watch Video Solution

2. What is mechanics?

Watch Video Solution

3. When is a body said to be in rest and

motion ?

https://dl.doubtnut.com/l/_YYQOoq0pXZwe
https://dl.doubtnut.com/l/_FXmYlERBzTEG
https://dl.doubtnut.com/l/_k3nwgokoBoQu


Watch Video Solution

4. What is resultant force ?

Watch Video Solution

5. Distinguish between balanced and

unbalanced force .

Watch Video Solution

https://dl.doubtnut.com/l/_k3nwgokoBoQu
https://dl.doubtnut.com/l/_0bEf3ug6bN9P
https://dl.doubtnut.com/l/_xIlzmMAZJrbb


6. Define Linear Momentum .

View Text Solution

7. How can you measure torque ?

View Text Solution

8. Handle in a door is always placed at the

edge of door . Why ?

View Text Solution

https://dl.doubtnut.com/l/_bJ5QCfbWfeJe
https://dl.doubtnut.com/l/_tTGhQY0pKCPa
https://dl.doubtnut.com/l/_GEbnouNxrFYC


9. What is Gravitational unit of force ?

Watch Video Solution

10. Take two eggs and drop them from a

certain height one by one . Drop one egg onto

a concrete floor and another one onto a

cushion pillow . What changes do you notice ?

When the egg is dropped onto a concrete

floor , it breaks. But , the egg is dropped onto

https://dl.doubtnut.com/l/_GEbnouNxrFYC
https://dl.doubtnut.com/l/_ZPgJqWZ41hg2
https://dl.doubtnut.com/l/_kr4pThnhcE6Y


the cushion pillow . What changes do you

notice ? When the egg is dropped onto a

concrete floor , it breaks . But , the egg

dropped onto the cushion pillow does not

break . Can you explain why ?

View Text Solution

11. What is meant by Weightlessness ?

View Text Solution

https://dl.doubtnut.com/l/_kr4pThnhcE6Y
https://dl.doubtnut.com/l/_E1jZ4HBPLV5V


12. Give more examples for the cases in which

the time of action of force is made large to

have less force ?

View Text Solution

13. Give exmaples for the cases in which the

time of action of force is very short to have a

large force ?

View Text Solution

https://dl.doubtnut.com/l/_0gBmasPvnCEo
https://dl.doubtnut.com/l/_tCRwcU9YYPuN
https://dl.doubtnut.com/l/_MlpLObQbrMJV


14. If 25 N of force is used to compress a

spring , then how much reactive force exerted

by spring ?

Watch Video Solution

15. Is it possible to open a cap of pen with one

hand ? If not give reason .

View Text Solution

https://dl.doubtnut.com/l/_MlpLObQbrMJV
https://dl.doubtnut.com/l/_HhE4zKPbquYO


16. What happen to the weight of a person

while he goes from polar region to equator ?

View Text Solution

17. Classify the following things into like

parallel and unlike parallel forces ( Dragging

water from well , force applied to crow bar ,

weight balance , turning pen cap )

View Text Solution

https://dl.doubtnut.com/l/_4BYQjSmEuA4z
https://dl.doubtnut.com/l/_9fU2IHtJFqb8


Additional Questions Answer Numerical

Problems

1. Weight of a person inside the lift while at

rest is 50 N. What it the weight he feels when

lift moves up with an acceleration of 

.

View Text Solution

9.8ms− 2

2. A 20 g bullet moving at 300 m/s stops after

penetrating 2 cm of bone. Calculate the

https://dl.doubtnut.com/l/_nroOBg1pd1Dd
https://dl.doubtnut.com/l/_7LyJXW02OABK


average force exerted by the bullet .

Watch Video Solution

3. A bullet of mass 50 g moving with a speed

of 300  is brought to rest in 1 s . Find

the impulse and the force .

Watch Video Solution

ms− 1

4. A cricket ball of mass 150 g moving with a

speed of 12  is hit by a bat so that thems− 1

https://dl.doubtnut.com/l/_7LyJXW02OABK
https://dl.doubtnut.com/l/_u5Z6mbrzUFnk
https://dl.doubtnut.com/l/_aBmytQM4DLJ6


ball is turned back with a velocity of  .

Calculate the impulse received by the ball ?

Watch Video Solution

20ms− 1

5. Calculate the mass of a body weighing 100

dyne . 

Watch Video Solution

g = 10m/s2

6. A cricket ball of mass 100 g moving with a

speed of 20  is brought to rest by ams− 1

https://dl.doubtnut.com/l/_aBmytQM4DLJ6
https://dl.doubtnut.com/l/_CC0ywUpAYM9M
https://dl.doubtnut.com/l/_vS7etofKlqyV


player . Find the change in momentum of ball.

Watch Video Solution

7. A spere of mass 20 kg moving with a velocity

 collides with another sphere of mass

15 kg which is at rest . After collision they

move with the same velocity . Find the velocity

.

Watch Video Solution

40ms− 1

https://dl.doubtnut.com/l/_vS7etofKlqyV
https://dl.doubtnut.com/l/_wx4EIFC3QsKV


8. A force of 200 dyne acts on a body of mass

10 g for 5 s. What will be the velocity of the

body if it starts from rest ? Express in SI unit .

Watch Video Solution

9. A force of 60 N acts on a body for 10 s. What

is the change in momentum ?

Watch Video Solution

https://dl.doubtnut.com/l/_F3IcnqLogaYM
https://dl.doubtnut.com/l/_F7BnPqLyA08Z


10. A body of mass 2 kg moving with uniform

velocity of  collides with another body

at rest . If two bodies move together with a

velocity of  . Find the mass of the

other body .

Watch Video Solution

40ms− 1

20ms− 1

11. A force of 10 kg weight acting on an object

of mass for 2 s gives to it a velocity of 10ms− 1

https://dl.doubtnut.com/l/_k1uc3Twng7Ju
https://dl.doubtnut.com/l/_VgpOBFhnABYS


. What is the mass of an object in kg ? [

]

Watch Video Solution

g = 9.8ms− 1

12. A 2000 kg car travelling at  hits

concret wall and stops in . What

magnitude of impulse did the wall exert on

the car ?

Watch Video Solution

20ms− 1

0.05s

https://dl.doubtnut.com/l/_VgpOBFhnABYS
https://dl.doubtnut.com/l/_natq1PqWjJRI


13. The masses of two planets are in the ratio

1:2 their radii are in the ratio 1:2. Find the ratio

of the acceleration due to gravity on the

planets .

Watch Video Solution

14. A pistol fired a bullet of mass 50 g

triggered with a speed  penetrated

into a wooden plank comes to rest at 1 ms.

250ms− 1

https://dl.doubtnut.com/l/_Cq1asRVHk6OD
https://dl.doubtnut.com/l/_qY71iW2YyORO


Find the impulse and average force offered by

the planks .

Watch Video Solution

15. Force of 50 N acts perpendicular on a body

, which is fixed at a point O . The distance of

point of action of force from O is 5 cm. Find

the momentum of force .

Watch Video Solution

https://dl.doubtnut.com/l/_qY71iW2YyORO
https://dl.doubtnut.com/l/_AXOBd773g3bJ


16. A person of weight 50 kg is moving down in

an elevator Calculate downward acceleration

offered by the elevator whose reaction force is

400 N on the surface .

Watch Video Solution

17. Calculate the force of gravitation between

two bodies of weight 50 kg and 10 kg

respectively place at 10 m apart . If their

distance increased to 100 % then find the

https://dl.doubtnut.com/l/_inOgySg6WM0m
https://dl.doubtnut.com/l/_DetsO0sHPrdH


Additional Questions Answer Long Answers

change in percentage of force . ( New force is

75% less than the original force ) .

Watch Video Solution

1. What are the concept prepared by the

Galileo ?

View Text Solution

https://dl.doubtnut.com/l/_DetsO0sHPrdH
https://dl.doubtnut.com/l/_98SOLHkSM0wb


2. Give the application of torque .

View Text Solution

3. Give examples for Newton's third law .

Watch Video Solution

4. Derive the Relation between g and G .

Watch Video Solution

https://dl.doubtnut.com/l/_1AcInOynbj31
https://dl.doubtnut.com/l/_VR7fGWz73qnF
https://dl.doubtnut.com/l/_svz6aU07So9s


Additional Questions Answer Higher Order

Thinking Hots

1. Why does a recoil of a heavy gun on firing

not so strong as of a light gun using the same

cartridges ?

View Text Solution

2. If a body move with uniform velocity , what

is the net force acting on a body ?

Watch Video Solution

https://dl.doubtnut.com/l/_3v8t5Yg6igJE
https://dl.doubtnut.com/l/_pTD6Bb5bwwK3


3. Meteorites are shooting stars . They

completely burn out while they hit Earth's

atmoshpere. Apply impulse concept to explain

their burning action .

Watch Video Solution

4. A rocket with a lift - off mass 20,000 kg is

blasted upwards with an initial acceleration of

https://dl.doubtnut.com/l/_pTD6Bb5bwwK3
https://dl.doubtnut.com/l/_W3BVaUt2uCH2
https://dl.doubtnut.com/l/_kh4M7k0QOc3j


. Calculate the initial thrust (Force ) of

the blast .

Watch Video Solution

50ms− 2

https://dl.doubtnut.com/l/_kh4M7k0QOc3j

